

CERTAIN SUBCLASS OF MULTIVALENT FUNCTIONS WITH FINITELY MANY FIXED COEFFICIENTS BY USING SALAGEAN DIFFERENTIAL OPERATOR

K. Marimuthu, S. Mayilvaganan¹, and J. Uma

ABSTRACT. We investigate and study a subclass of analytic multivalent functions with finitely many fixed coefficients defined by using Salagean differential operator. Our main objective is to find coefficient estimates, closure theorems, integral operators and extreme points are applied to in this class.

1. INTRODUCTION

Denote $A_p(n)$ be the class of functions f of the form

$$(1.1) \quad f(z) = z^p + \sum_{k=n}^{\infty} a_{p+k} z^{p+k}, \quad (a_{p+k} \geq 0; p, n \in \mathbb{N}),$$

which are analytic and multivalent in the open unit disc $E = \{z : z \in \mathbb{C}, |z| < 1\}$.

We write $A_{(1,1)} = A$.

Let $S_p(n)$ denote the new subclass of $A_p(n)$, which also multivalent in E . T. Rosy [13] introduced the class $SD(\alpha)$, which was recently studied by S. Sunil Varma and T. Rosy [12], R. Ezhilarasi et al. [4], M. Shanthi and C. Selvaraj [11],

¹corresponding author

2020 Mathematics Subject Classification. 30C45.

Key words and phrases. multivalent, Salagean differential operator, starlike, convex.

Submitted: 01.02.2021; Accepted: 15.02.2021; Published: 24.02.2021.

that the functions consists of the form (1.1) satisfying the following analytic criteria

$$\operatorname{Re} \left\{ \frac{f(z)}{z} \right\} \geq \alpha \left| f'(z) - \frac{f(z)}{z} \right|, \quad \alpha \geq 0.$$

In earlier many authors like K.K. Dixit and I.B. Misra [2], S. Owa and H.M. Srivastava [9], Murugusundramoorthy and Magesh [7] considered a subclass of $S_p(n)$ by fixing finitely many coefficients.

Now, let $T_p(n)$ be the subclass of $S_p(n)$ consisting of functions f of the form

$$(1.2) \quad f(z) = z^p - \sum_{k=n}^{\infty} a_{p+k} z^{p+k}, \quad (a_{p+k} \geq 0; p, n \in \mathbb{N}).$$

The subclasses of $A_p(n)$ were introduced by M. I. S. Robertson [10]. Further properties of subclass of multivalent analytic functions were studied by many authors like J. L. Lio [5] and [3, 8]. A function $f \in A_p(n)$ is said to be in the classes $N_{(p,n,\alpha)}^*(\alpha)$ and $T_p(n)(\alpha)$ of multivalent starlike of order α in E and multivalent convex of order α in E , if it satisfies the following inequalities.

$$\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} \right\} > \alpha, \quad z \in E, (0 \leq \alpha < p, p \in \mathbb{N}),$$

and

$$(1.3) \quad \operatorname{Re} \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > \alpha, \quad z \in E, (0 \leq \alpha < p, p \in \mathbb{N}).$$

Let the functions $f(z) \in A_p(n)$, then we get,

$$D^m f(z) = D(D^{m-1} f(z)) = p^m z^p + \sum_{k=n}^{\infty} (p+k)^m a_{p+k} z^{p+k}.$$

By the work of Muhammet Kamali and Fatma Sagoz [6], we define $\rho : A_p(n) \rightarrow A_p(n)$,

$$\rho(m, \lambda, p) = \left(\frac{1}{p^m} - \lambda \right) D^m f(z) + \frac{\lambda z}{p} (D^m f(z))',$$

$$0 \leq \lambda \leq \frac{1}{p^m}, m \in \mathbb{N} \cup \{0\}.$$

Now we consider a subclass $TSD(p, n, m, \alpha)$ with finitely fixed many coefficients defined by using Salagean differential operator. For convenience, $\rho(m, \lambda, p)$ is denoted by $G(z)$. Further we define,

$$TDSD(p, n, m, \alpha) = T_{(p,n)} \cap TSD(p, n, m, \alpha).$$

Definition 1.1. A functions $f \in S_p(n)$ is in the $TSD(p, n, m, \alpha)$, if it satisfies the following analytic condition

$$\operatorname{Re} \left\{ \frac{G(z)}{z} \right\} \geq \alpha \left| G'(z) - \frac{G(z)}{z} \right|,$$

where $\alpha \geq 0, 0 \leq \lambda \leq \frac{1}{p^m}, m \in \mathbb{N} \cup (0)$.

Now, we prove a necessary and sufficient condition for the functions in $S_p(n)$ to be in $TSD(p, n, m, \alpha)$.

Theorem 1.1. A function $f(z)$ of the form (1.2) is in the class $TSD(p, n, m, \alpha)$, if, and only if

$$(1.4) \quad \sum_{k=n}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] |a_{p+k}| \leq 1 + \alpha(p-1).$$

Proof. Let the function f of the form (1.2) satisfies (1.4). Then

$$\begin{aligned} & \operatorname{Re} \left\{ \frac{G(z)}{z} \right\} - \alpha \left| G'(z) - \frac{G(z)}{z} \right| \geq 1 - \left| \frac{G(z)}{z} - 1 \right| - \alpha \left| G'(z) - \frac{G(z)}{z} \right| \\ &= 1 - \left| z^{p-1} + \sum_{k=n}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] a_{p+k} z^{p+k-1} - 1 \right| \\ & \quad - \alpha \left| p z^{p-1} + \sum_{k=n}^{\infty} (p+k)^{m+1} \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] a_{p+k} z^{p+k-1} - z^{p-1} \right| \\ & \quad - \sum_{k=n}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] |a_{p+k} z^{p+k-1}| \\ &= 1 - \sum_{k=n}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] |a_{p+k}| \\ & \quad + \alpha \left[(p-1) - \sum_{k=n}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] (p+k-1) |a_{p+k}| \right] \\ &= 1 + \alpha(p-1) - \sum_{k=n}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] |a_{p+k}| \\ &\geq 0. \end{aligned}$$

Conversely, let $\operatorname{Re} \left\{ \frac{G(z)}{z} \right\} - \alpha \left| G'(z) - \frac{G(z)}{z} \right| > 0$, which implies,

$$\begin{aligned}
& \operatorname{Re} \left\{ z^{p-1} + \sum_{k=n}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] a_{p+k} z^{p+k-1} \right\} \\
& - \alpha |p z^{p-1} + \sum_{k=n}^{\infty} (p+k)^{m+1} \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] a_{p+k} z^{p+k-1} - z^{p-1} \\
& - \sum_{k=n}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] a_{p+k} z^{p+k-1} | > 0, \\
& \operatorname{Re} \left\{ |z^{p-1}| + \sum_{k=n}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] |a_{p+k}| |z^{p+k-1}| \right\} \\
& - \alpha |p z^{p-1} + \sum_{k=n}^{\infty} (p+k)^{m+1} \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] a_{p+k} z^{p+k-1} - z^{p-1} \\
& - \sum_{k=n}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] a_{p+k} z^{p+k-1} | > 0.
\end{aligned}$$

Letting z to take real values and as $|z| \rightarrow 1$, we get

$$1 + \alpha(p-1) - \sum_{k=n}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] |a_{p+k}| \geq 0,$$

which implies,

$$\sum_{k=n}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] |a_{p+k}| \leq 1 + \alpha(p-1).$$

□

Corollary 1.1. *Let $f \in TDSD(p, n, m, \alpha)$. Then*

$$(1.5) \quad a_{p+k} \leq \frac{1 + \alpha(p-1)}{(p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)]}.$$

Now we introduce the subclass $TDSD(p, n, m, \alpha, q_{p+m})$ of $TDSD(p, n, m, \alpha)$ consisting of functions

$$f(z) = z^p - \sum_{i=n}^m \frac{1 + \alpha(p-1)}{(p+i)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+i}{p} - 1 \right) \right] [1 + \alpha(p+i-1)]} - \sum_{k=m+1}^{\infty} a_{p+k} z^{p+k},$$

where $p, n \in \mathbb{N}, i = n, n+1, \dots, m, 0 \leq q_{p+i} \leq 1, 0 \leq \sum_{i=n}^m q_{p+i} \leq 1$.

2. COEFFICIENT ESTIMATES

We now investigate and determine the coefficient estimate for functions in the class $TDSD(p, n, m, \alpha, q_{p+m})$.

Theorem 2.1. *A function of the form (1.5) belongs to the class $TDSD(p, n, m, \alpha, q_{p+m})$, if, and only if*

$$\sum_{k=m+1}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] a_{p+k} \\ \leq [1 + \alpha(p-1)] \left[1 - \sum_{i=n}^m q_{p+i} \right],$$

where $0 \leq \alpha < p, 0 \leq q_{p+i} \leq 1, 0 \leq \sum_{i=n}^m q_{p+i} \leq 1$.

Proof. From (1.5), we have

$$a_{p+i} \leq \frac{[1 + \alpha(p-1)] q_{p+i}}{(p+i)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+i}{p} - 1 \right) \right] [1 + \alpha(p+i-1)]},$$

where $p, n \in \mathbb{N}, i = n, n+1, \dots, m, 0 \leq q_{p+i} \leq 1, 0 \leq \sum_{i=n}^m q_{p+i} \leq 1$. By Theorem 1.1,

$$\sum_{k=n}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] a_{p+k},$$

which implies

$$\sum_{i=n}^m (p+i)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+i}{p} - 1 \right) \right] [1 + \alpha(p+i-1)] a_{p+i} \\ + \sum_{k=m+1}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] a_{p+k} \\ \leq 1 + \alpha(p-1) \\ \sum_{k=m+1}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] a_{p+k} \\ \leq [1 + \alpha(p-1)] \left[1 - \sum_{i=n}^m q_{p+i} \right].$$

Conversely,

$$\operatorname{Re} \left\{ \frac{G(z)}{z} \right\} - \alpha \left| G'(z) - \frac{G(z)}{z} \right| > 0,$$

$$1 + \alpha(p-1) - \sum_{i=n}^m (p+i)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+i}{p} - 1 \right) \right] [1 + \alpha(p+i-1)] a_{p+i} - \\ \sum_{k=m+1}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] a_{p+k} \geq 0,$$

and

$$[1 + \alpha(p-1)][1 - \sum_{i=n}^m q_{p+i}] \\ \geq \sum_{k=m+1}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] a_{p+k}.$$

Hence, $f \in TDSD(p, n, m, \alpha, q_{p+m})$.

The sharpness of the result follows by taking

$$f(z) = z^p - \sum_{i=n}^m \frac{[1 + \alpha(p-1)]q_{p+i}}{(p+i)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+i}{p} - 1 \right) \right] [1 + \alpha(p+i-1)]} z^{p+i} \\ - \frac{[1 + \alpha(p-1)][1 - \sum_{i=n}^m q_{p+i}]}{(p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)]} z^{p+k},$$

where $k \geq n-1, p, n \in \mathbb{N}$. □

Corollary 2.1. *Let $f \in TDSD(p, n, m, \alpha, q_{p+m})$. Then, for $k \geq m+1$,*

$$a_{p+k} \leq \frac{[1 + \alpha(p-1)][1 - \sum_{i=n}^m q_{p+i}]}{(p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)]}.$$

The result is sharp.

3. CLOSURE THEOREMS

Theorem 3.1. *The class $f \in TDS D(p, n, m, \alpha, q_{p+m})$ is convex.*

Proof. Let $f, g \in f \in TDS D(p, n, m, \alpha, q_{p+m})$. Then,

$$f(z) = z^p - \sum_{i=n}^m \frac{[1 + \alpha(p-1)]q_{p+i}}{(p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)]} z^{p+i} \\ - \sum_{k=m+1}^{\infty} a_{p+k} z^{p+k},$$

and

$$g(z) = z^p - \sum_{i=n}^m \frac{[1 + \alpha(p-1)]q_{p+i}}{(p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)]} z^{p+i} \\ - \sum_{k=m+1}^{\infty} b_{p+k} z^{p+k},$$

where $0 \leq q_{p+i} \leq 1, 0 \leq \sum_{i=n}^m q_{p+i} \leq 1$.

Let assume that $h(z) = \mu f(z) + (1 - \mu)g(z)$. Then,

$$h(z) = z^p - \sum_{i=n}^m \frac{[1 + \alpha(p-1)]q_{p+i}}{(p+i)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+i}{p} - 1 \right) \right] [1 + \alpha(p+i-1)]} z^{p+i} \\ - \sum_{k=m+1}^{\infty} [\mu a_{p+k} + (1 - \mu)b_{p+k}] z^{p+k}.$$

Now,

$$\sum_{k=m+1}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] [\mu a_{p+k} + (1 - \mu)b_{p+k}] \\ = \mu \sum_{k=m+1}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] a_{p+k} \\ + (1 - \mu) \sum_{k=m+1}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] b_{p+k}$$

$$\begin{aligned}
&\leq \mu[1 + \alpha(p-1)][1 - \sum_{i=n}^m q_{p+i}] + (1-\mu)[1 + \alpha(p-1)][1 - \sum_{i=n}^m q_{p+i}] \\
&= [1 + \alpha(p-1)][1 - \sum_{i=n}^m q_{p+i}],
\end{aligned}$$

which implies $h(z) \in TDSD(p, n, m, \alpha, q_{p+m})$. $\square$

Theorem 3.2. *Let*

$$(3.1) \quad f_m(z) = z^p - \sum_{i=n}^m \frac{[1 + \alpha(p-1)]q_{p+i}}{(p+i)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+i}{p} - 1 \right) \right] [1 + \alpha(p+i-1)]} z^{p+i}$$

and

$$\begin{aligned}
(3.2) \quad f_{p+k}(z) &= z^p - \sum_{i=n}^m \frac{[1 + \alpha(p-1)]q_{p+i}}{(p+i)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+i}{p} - 1 \right) \right] [1 + \alpha(p+i-1)]} z^{p+i} \\
&\quad - \frac{[1 + \alpha(p-1)][1 - \sum_{i=n}^m q_{p+i}]}{(p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)]} z^{p+k},
\end{aligned}$$

$k \geq m+1$. Then $f \in TDSD(p, n, m, \alpha, q_{p+m})$, if, and only if, f can be expressed in the form

$$f(z) = \sum_{k=m}^{\infty} \mu_{p+k} f_{p+k}(z),$$

where $\mu_{p+k} \geq 0$, $k \geq m$ and $\sum_{k=m}^{\infty} \mu_{p+k} = 1$.

Proof. Let $f \in A_p(n)$ can be expressed in the form (3.1). Then

$$\begin{aligned}
f(z) &= z^p - \sum_{i=n}^m \frac{[1 + \alpha(p-1)]q_{p+i}}{(p+i)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+i}{p} - 1 \right) \right] [1 + \alpha(p+i-1)]} z^{p+i} \\
&\quad - \sum_{k=m+1}^{\infty} \frac{\mu_{p+k}[1 + \alpha(p-1)][1 - \sum_{i=n}^m q_{p+i}]}{(p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)]} z^{p+k}.
\end{aligned}$$

Now,

$$\begin{aligned} & \sum_{k=m+1}^{\infty} \frac{(p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] \mu_{p+k} [1 + \alpha(p-1)] [1 - \sum_{i=n}^m q_{p+i}]}{(p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)]} \\ &= \sum_{k=m+1}^{\infty} \mu_{p+k} [1 + \alpha(p-1)] [1 - \sum_{i=n}^m q_{p+i}] = [1 + \alpha(p-1)] [1 - \sum_{i=n}^m q_{p+i}] \sum_{k=m+1}^{\infty} \mu_{p+k} \\ &= [1 + \alpha(p-1)] [1 - \sum_{i=n}^m q_{p+i}] (1 - \mu_{p+m}) \leq [1 + \alpha(p-1)] [1 - \sum_{i=n}^m q_{p+i}], \end{aligned}$$

which implies $f \in TDSD(p, n, m, \alpha, q_{p+m})$.

Conversely, for $k \geq m+1$, Let

$$\mu_{p+k} = \frac{(p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] a_{p+k}}{[1 + \alpha(p-1)] [1 - \sum_{i=n}^m q_{p+i}]}, k \geq m+1$$

and $\mu_{p+m} = 1 - \sum_{k=m+1}^{\infty} \mu_{p+k}$. Thus f can be represented as $f = \sum_{k=m}^{\infty} \mu_{p+k} f_{p+k}(z)$. $\square$

Corollary 3.1. *The extreme points of the class $TDSD(p, n, m, \alpha, q_{p+m})$ are the functions $f_n, (n \geq k)$ given by (3.1) and (3.2).*

The Alexander operator [1] for the functions in the class $T_p(n)$ maps the class of starlike functions onto convex functions and is defined as

$$I(f) = \int_0^z \frac{f(t)}{t} dt.$$

4. INTEGRAL OPERATOR

Theorem 4.1. *Let f of the form (1.5) be in the class $TDSD(p, n, m, \alpha, q_{p+m})$. Then $I(f) \in TDSD(p, n, m, \alpha, q_{p+m})$, where $t_{p+m} = \frac{q_{p+m}}{(p+m)}$.*

Proof. We have

$$\begin{aligned} I(f) &= z^p - \sum_{i=n}^m \frac{[1 + \alpha(p-1)] t_{p+i}}{(p+i)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+i}{p} - 1 \right) \right] [1 + \alpha(p+i-1)]} z^{p+i} \\ &\quad - \sum_{k=m+1}^{\infty} \frac{a_{p+k}}{(p+k)} z^{p+k}. \end{aligned}$$

Now,

$$\begin{aligned} & \sum_{k=m+1}^{\infty} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] \frac{a_{p+k}}{(p+k)} \\ & \leq \frac{1}{(p+m+1)} (p+k)^m \left[\frac{1}{p^m} + \lambda \left(\frac{p+k}{p} - 1 \right) \right] [1 + \alpha(p+k-1)] a_{p+k} \\ & \leq \frac{1}{(p+m+1)} [1 + \alpha(p-1)] \left[1 - \sum_{i=n}^m q_{p+i} \right], \end{aligned}$$

which implies $I(f) \in TDSD(p, n, m, \alpha, q_{p+m})$. □

ACKNOWLEDGMENT

The authors are grateful to the reviewer of this article, that gave valuable remarks, comments, and advices, in order to revise and improve the results of the paper.

REFERENCES

- [1] J. W. ALEXANDER: *Functions which map the interior of the unit circle upon simple regions*, Ann. of Math., **17**(1) (1915), 12–22.
- [2] K. K. DIXIT, I. B. MISRA: *A class of uniformly convex functions of order α with negative and fixed finitely many coefficients*, Indian J. Pure Appl. Math., **32**(5) (2001), 711–716.
- [3] A. H. EL-QADEEM, M. A. MAMON: *Comprehensive subclasses of multivalent functions with negative coefficients defined by using a q -difference operator*, Trans. A. Razmadze Math. Inst., **172**(3) (2018), 510–526.
- [4] R. EZHILARASI, T. V. SUDHARSAN, S. SIVASUBRAMANIAN: *On certain subclass of univalent functions with finitely many fixed coefficients defined by Bessel function*, Malaya J. Mat., **8**(3) (2020), 1085–1091.
- [5] J.-L. LIU: *Some further properties of certain class of multivalent analytic functions*, Tamsui Oxf. J. Math. Sci., **25**(4) (2009), 369–376.
- [6] M. KAMALI, F. SAGSOZ: *Some Properties of Subclasses of Multivalent Functions*, Abstract and Applied Analysis, **2011** (2011), Article ID 361647.
- [7] G. MURUGUSUNDARAMOORTHY, N. MAGESH: *A new subclass of uniformly convex functions and a corresponding subclass of starlike functions with fixed second coefficient*, J. Inequal. Pure Appl. Math., **5**(4) (2004), Article 85, 10 pages.

- [8] A. O. MOSTAFA, G. M. EL-HAWSH: *Differential subordination applications to a class of meromorphic multivalent functions associated with Mittag-Leffler function*, J. Egyptian Math. Soc., **27**(1) (2019), Paper No. 31, 11 pages.
- [9] S. OWA, H. M. SRIVASTAVA: *A class of analytic functions with fixed finitely many coefficients*, J. Fac. Sci. Tech. Kinki Univ., **23** (1987), 1—10.
- [10] M. I. S. ROBERTSON: *On the theory of univalent functions*, Ann. of Math., **37**(2) (1936), 374—408.
- [11] M. SHANTHI, C. SELVARAJ: *A Subclass of multivalent functions with finitely many fixed coefficients*, Int. J. Pure and Applied Math., **118**(10) (2018), 479—489.
- [12] S. SUNIL VARMA, T. ROSY: *Certain properties of a subclass of univalent functions with finitely many fixed coefficients*, Khayyam J. Math., **3**(1) (2017), 25—32.
- [13] T. ROSY: *Studies on Subclasses of Starlike and Convex Functions*, Ph.D. Thesis, submitted to University of Madras, Chennai, India, 2001.

DEPARTMENT OF MATHEMATICS
SRM INSTITUTE OF SCIENCE AND TECHNOLOGY
KATTANKULATHUR, TAMILNADU
INDIA
Email address: marimuthuk1008@gmail.com

DEPARTMENT OF MATHEMATICS
D.G.VAISHNAV COLLEGE(AUTONOMOUS)
CHENNAI, TAMILNADU
INDIA
Email address: mayilvaganan.s@gmail.com

DEPARTMENT OF MATHEMATICS
SRM INSTITUTE OF SCIENCE AND TECHNOLOGY
KATTANKULATHUR, TAMILNADU
INDIA
Email address: uma.jay2013@gmail.com